
Addition Pâques (C)Obtenez un œuf en chocolat pour chaque réponse correcte. Œuf en chocolat obtenu: _____/2597 35 58 80 85+ 61 + 11 + 29 + 36 + 94
44 93 71 18 36+ 62 + 19 + 55 + 46 + 57
26 36 71 56 12+ 19 + 21 + 58 + 40 + 0
59 73 91 73 23+ 23 + 28 + 94 + 6 + 28
36 33 90 1 83+ 52 + 87 + 29 + 86 + 37
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Addition Pâques (C) RéponsesObtenez un œuf en chocolat pour chaque réponse correcte. Œuf en chocolat obtenu: _____/2597 35 58 80 85+ 61 + 11 + 29 + 36 + 94158 46 87 116 179
44 93 71 18 36+ 62 + 19 + 55 + 46 + 57106 112 126 64 93
26 36 71 56 12+ 19 + 21 + 58 + 40 + 045 57 129 96 12
59 73 91 73 23+ 23 + 28 + 94 + 6 + 2882 101 185 79 51
36 33 90 1 83+ 52 + 87 + 29 + 86 + 3788 120 119 87 120
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